Verbal Reasoning Data Sufficiency Questions Pdf for IBPS Bank Exams

Question: 1

Each question given below has a problem and two statements numbered | and Il giving
certain information. You have to decide if the information given in the statements is
sufficient for answering the problem. Indicate your answer as

What is Reena's rank in the class?
I. There are 26 students in the class.
II. There are 9 students who have scored less than Reena.

(A) If the data in both the statements together are needed.

(B) If the data even in both the statements together are not sufficient to answer the

question.
(C) If the data either in | or Il alone are sufficient to answer the question.

(D) If the data in statement | alone are sufficient to answer the question.
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From | and I, we conclude that there was 16 students above Reena in rank. Thus, Reena's rank

is 17th in the class. So, both the statements are necessary.
Question: 2

Each question given below has a problem and two statements numbered | and Il giving
certain information. You have to decide if the information given in the statements is
sufficient for answering the problem. Indicate your answer as

On which day in April is Gautam's birthday?

I. Gautam was born exactly 28 years after his mother was born.

II. His mother will be 55 years 4 months and 5 days on August 18 this year.
(A) If the data in statement Il alone are sufficient answer the question.

(B) If the data either in | or Il alone are sufficient to answer the question.

(C) If the data even in both the statements together are not sufficient to answer the

question.
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(D) If the data in both the statements together are needed.
Ans: D

Clearly, the birthday of Gautam's mother can be found out from Il and then Gautam's birthday can be

determined using the fact given in I. Thus, both the statements are required.
Question: 3

Each question given below has a problem and two statements numbered | and Il giving
certain information. You have to decide if the information given in the statements is
sufficient for answering the problem. Indicate your answer as

On which day the flat was purchased by Rohan in 19967

I. Certainly before 18th December, 1996 but definitely not before 15th December, 1996.
[l. Certainly after 16th December, 1996 but not later than 19th December, 1996.

(A) If the data even in both the statements together are not sufficient to answer the

question.

(B) If the data either in | or Il alone are sufficient to answer the question.
(C) If the data in both the statements together are needed.

(D) If the data in statement | alone are sufficient to answer the question.
Ans: C

From statement |, we conclude that Rohan purchased the flat between 15th and 18th December i.e. on
16th or 17th December.

From statement Il, we conclude that the flat was purchased between 16th and 19th December i.e. on
17th or 18th December.

The day common to above two groups is 17th December. So, Rohan purchased the flat on 17th
December.

Thus both | and Il are needed.
Question: 4

Each question given below has a problem and two statements numbered | and Il giving

certain information. You have to decide if the information given in the statements is



sufficient for answering the problem. Indicate your answer as
How many new year's greeting cards were sold this year in your shop?
I. Last year 2935 cards were sold.

II. The number of cards sold this year was 1.2 times that of last year.
(A) If the data in statement Il alone are sufficient answer the question.
(B) If the data either in | or Il alone are sufficient to answer the question.

(C) If the data even in both the statements together are not sufficient to answer the

question.
(D) If the data in both the statements together are needed.
Ans: D

From both the given statements, we find that the number of cards sold this year = (2935 x 1.2) = 3522.

So, both | and Il together are required.
Question: 5

Each question given below has a problem and two statements numbered | and Il giving
certain information. You have to decide if the information given in the statements is
sufficient for answering the problem. Indicate your answer as

How much was the total sale of the company?

I. The company sold 8000 units of product A each costing Rs. 25.

[l. This company has no other product line.
(A) If the data in both the statements together are needed.

(B) If the data even in both the statements together are not sufficient to answer the

question.
(C) If the data either in | or |l alone are sufficient to answer the question
(D) if the data in both the statements together are needed.

Ans: D



From statements | and Il together, we find that company sells only product A and total sale of product A
= Rs. (8000 x 25) = Rs 2000000, which is also the total sale of the company.

So, both I and Il are required.
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